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DD–2706 

B. Sc./B. Sc. B. Ed. (Part II) 

EXAMINATION, 2020 

CHEMISTRY 

Paper Second 

(Organic Chemistry) 

Time : Three Hours 

Maximum Marks : 33 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA  

 Attempt all the five questions. One question from each 

Unit is compulsory. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- ¼v½ D;k gksrk gS tc %    3 

(i) {kkj dh mifLFkfr easa QhukWy dh fØ;k DyksjksQkWeZ ls 

gksrh gSA  

(ii) bZFkj HCl ls fØ;k djrk gSA  

(iii) QhukWy ruq vEy ;k {kkj dh mifLFkfr eas 

QkWesZfYMgkbM ls fØ;k djrk gSA  
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What happens when : 

(i) Phenol reacts with chloroform in presence of 

alkali.  

(ii) Ether reacts with HCl.  

(iii) Phenol reacts with formaldehyde in presence 

of dilute acid or alkali.  

¼c½ fuEufyf[kr vfHkfØ;kvksa dh fØ;kfof/k le>kb;s ¼dksbZ nksnksnksnks½ %  
     3 

(i) jhej&Vheku vfHkfØ;k 

(ii) xkVjeku la’ys”k.k 

(iii) Ýkbl iqufoZU;kl 

Explain the mechanism of the following reactions 

(any two) : 

(i) Riemer-Tiemann reaction  

(ii) Gattermann synthesis  

(iii) Fries rearrangement 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ fXyljkWy ls fuEufyf[kr dks vki dSls izkIr djsaxs \ 2 

(i) ,Øksyhu 

(ii) ukbVªksfXyljhu 

How will you obtain the following compounds from 

glycerol ? 

(i) Acrolein  

(ii) Nitroglycerine  

¼c½ bZFkj dh lkUnz 2 4H SO  ds lkFk gksus okyh vfHkfØ;k 
le>kb,A  2  
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Explain the reaction of ether with concentrated 

2 4H SO .   

¼l½ fXyljkWy dh vkWDtsfyd vEy ds lkFk gksus okyh 
vfHkfØ;k fyf[k,A  2 

Write down the reaction of glycerol with oxalic acid.  

bdkbZbdkbZbdkbZbdkbZ&&&&2222    

(UNIT—2) 

2- ¼v½ fuEufyf[kr vfHkfØ;kvksa dks fØ;kfof/k lfgr le>kb, 
¼dksbZ nksnksnksnks½ %     4 

(i) ifdZu vfHkfØ;k 

(ii) dSfutkjks vfHkfØ;k 

(iii) ,YMksy la?kuu 

Explain the following reactions with their 

mechanism (any two) : 

(i) Perkin’s reaction  

(ii) Cannizzaro reaction  

(iii) Aldol condensation  

¼c½ QkWeZsfYMgkbM] ,slhVsfYMgkbM ,oa csUtsfYMgkbM dh 
vkisf{kd fØ;k’khyrk dks le>kb,A  3 

Explain the relative reactivity of formaldehyde, 

acetaldehyde and benzaldehyde.  

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ castksbu la?kuu D;k gS \ fØ;kfof/k lfgr le>kb,A 3 

What is benzoin condensation ? Explain with 

mechanism. 
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¼c½ D;k gksrk gS tc % 3 

(i) ,slhVsfYMgkbM VkWysu vfHkdeZd ls fØ;k djrk gSA  

(ii) QkWesZfYMgkbM dh vfHkfØ;k veksfu;k ls djkbZ tkrh 
gSA  

What happens when : 

(i) Acetaldehyde reacts with Tollen’s reagent. 

(ii) Formaldehyde reacts with ammonia . 

¼l½ > C = O lewg esa dkcZu dh ladj.k voLFkk gS % 1 

(i) sp 

(ii) 2sp   

(iii) 3sp  

(iv) buesa ls dksbZ ugha  

Hybridisation state of carbon in > C = O group is :  

(i) sp 

(ii) 2sp   

(iii) 3sp  

(iv) None of these 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    

(UNIT—3) 

3- ¼v½ ,slhfVy DyksjkbM ls vki fuEufyf[kr dks dSls izkIr 
djsaxs \      3 

(i) ,lhfVd ,ugkbMªkbM 

(ii) ,fFky ,lhVsV 

(iii) ,slhVkekbM 
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How will you obtain the following from acetyl 

chloride ? 

(i) Acetic Anhydride  

(ii) Ethyl Acetate  

(iii) Acetamide  

¼c½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft;s % 4 

(i) 
200 C

COOH

|

COOH

°
→   

(ii) 3 3CH COCl CH MgBr+ →   

(iii) 2 5P O
3 2CH CONH →   

(iv) 2 2 2NH CONH 2HNO+ →   

Complete the following reactions :  

(i) 
200 C

COOH

|

COOH

°
→   

(ii) 3 3CH COCl CH MgBr+ →   

(iii) 2 5P O
3 2CH CONH →   

(iv) 2 2 2NH CONH 2HNO+ →  

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 3 

(i) ckb;wjsV VsLV 

(ii) gkWQeku czksekekbM vfHkfØ;k 
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Write notes on the following : 

(i) Bi-uret test  

(ii) Hoffman’s Bromamide reaction  

¼c½ fuEufyf[kr vfHkfØ;kvksa dks fØ;kfof/k lfgr le>kb, % 4 

(i) gsy&oksYgkMZ&tsfyaLdh vfHkfØ;k  

(ii) jsQkWesZVLdh vfHkfØ;k  

Explain the following reactions with their 

mechanism :  

(i) Hell-Volhard-Zelinsky reaction  

(ii) Reformatsky reaction  

bdkbZbdkbZbdkbZbdkbZ&&&&4444    

(UNIT—4) 

4- ¼v½ fuEufyf[kr vfHkfØ;kvksa ls vki izkFkfed vehu dSls izkIr 
djsaxs \      3 

(i) xSfczy FkSfyekbM vfHkfØ;k 

(ii) dfVZ;l vfHkfØ;k 

How will you obtain primary amine from the 

following reactions ? 

(i) Gabriel’s phthalimide reaction  

(ii) Curtius reaction  

¼c½ fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 4 

(i) ukbVªkscasthu dk vip;u 

(ii) fidfjd vEy  

Write notes on the following : 

(i) Reduction of nitrobenzene 

(ii) Picric acid  



 [ 7 ]  DD–2706 

 (A-64)  

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ Mkb,tksVkbts’ku D;k gS \ csathu Mkbtksfu;e DyksjkbM 
fdl izdkj izkIr fd;k tkrk gS \ 3 

Define diazotization. How is benzene diazonium 

chloride prepared ? 

¼c½ ,stks ;qXeu dks le>kb,A 3 

Explain Azo coupling.  

¼l½ ,fuyhu] ,fFky vehu ls de {kkjh; gSA D;ksa \ 1 

Aniline is less alkaline than ethyl amine. Why ? 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- ¼v½ fuEufyf[kr dks le>kb, %  3 

(i) fijhMhu csathu dh vis{kk bysDVªksQkby ds izfr de 
fØ;k’khy gSA  

(ii) ¶;wjsu eas izfrLFkkiu – 2 rFkk – 5 LFkkuksa ij gh 
gksrk gSA D;ksa \ 

(iii) ^Fkk;ksQsu* dh vuqukn lajpuk fyf[k,A 

Explain the following : 

(i) Pyridine is less reactive than benzene towards 

electrophiles. 

(ii) Substitution occurs in furan at position –2 and  

–5. Why ? 

(iii) Give resonating structure of ‘Thiophene’. 

¼c½ fDouksyhu ds la’ys”k.k dh LØkWi dh fof/k le>kb,A 3 

Explain Skraup’s synthesis of quinolene.  
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vFkokvFkokvFkokvFkok    
(Or) 

¼v½ fuEufyf[kr ij fVIif.k;k¡ fyf[k;s % 3 

(i) izksVhu dh f}rh;d lajpuk 

(ii) mHk;fu”B vk;u 

Write notes on the following : 

(i) Secondary structure of Protein  

(ii) Zwitter ion  

¼c½ fQ’kj&b.Mksy la’ys”k.k dk o.kZu dhft,A  3 

Describe Fischer-Indole synthesis.  
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